aA + bB - cC + dD
A
_ _1dA] _ _1dB] _ 1dC _ _1dD]
a dt b dt c dt d dt
v = k_[A]™[B]™
NA=a nNB=b
v. = k_[c]°[D]™
Viota = V. ot Vo
Viotal = 0
(nA + NB)
A S
dlA]
_ _dAl | ia In[A]
T - KA \k
InN[A] = In[A]g - kt [A] = [Alpe
[Alo
t
. 1 0.693
Al = Z[A =" o
[A] 2[ lo t K k


mailto:�L�@���w���@�i�Γc�j
mailto:�@�@
mailto:�@�@
mailto:�@�@
mailto:�@�@
mailto:���ۂɁA�����@����𖾂��邱�Ƃ���̖ړI�Ƃ��āA�������x�����������B
mailto:�@�@
mailto:�@�@
mailto:�S�D���������F���ڂQ�̎��ŁA�@(
mailto:��F���ː��j��̉�ρA�L�@�������ِ̈����A�M�����B
mailto:�@�@A
mailto:���@������
mailto:�@�@
mailto:�@�@
mailto:�@���邢�́A
mailto:�@�@

v = _dAl _ k[AT?

dt
11
[Al [Alo
Al = (AL tuo
¢ 1
1z [Alok
A+ B -

_ _dAl _ _dB] _
VT T4 a K[A][B]
t X
1 Hn [Blp 0 [Alo H _ Kt

[Alo—[Blo U [Blop =x  [A]p—xU

_E
k = Ae RT

Ea A
No £

_E
N
No

exp

VA
K = 7%

No

_E

K = zPpN - (zP)e RT

[A]

— R DY

-E/RT


mailto:�U�D�P�@���������̔Z�x�̓��ɔ�Ⴗ��ꍇ
mailto:�@�@�QA
mailto:���@������
mailto:�@�@
mailto:�@�@
mailto:�@�@
mailto:�U�D�Q�@�Q��̔��������̔Z�x�̐ςɔ�Ⴗ��ꍇ
mailto:�@�@A�@+�@B
mailto:���@������
mailto:�@�@
mailto:�@�@
mailto:�@�@
mailto:�@�@
mailto:�@�i�{���c�}�����z�j
mailto:�@�@
mailto:�@�@
mailto:�@�@...�@�A���j�E�X�̎��Ɠ���ƂȂ�B

